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Instruction : First 15 minutes are allotted for
the candidates to read the
question paper.
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Note : i)

i)

2
All questions are compulsory.

[llustrate your answers - with
labelled diagrams wherever

necessary.
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i) IBA

i) IAA

iii) GA

iv) NAA. 1
TS ST It Sl &

iy wEHgH

i) WARIH
iij) <fRwd

iv) eTeifeam 4 | 1

377(Y2)

1. Choose the correct option and write in

your answer-book :

A)

B)

832709

Double fertilization occurs in

i) Algae

ii)  Fungi

i) Angiosperms

iv) Gymnosperms. 1

Which shape of chloroplast occurs

in Ulothrix ?

1} Girdle shape
i) Cup shape
i) Spiral

iv) Star shape. 1



C)

D)
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Which chemical can induce

flowering in long day plants ?

iy IBA
i) IAA
iii) GA
iv)] NAA. 1

Coralloid roots-are found in
i) Cycas

ii) Funana

ii1) Pternis

iv) Lycopodium. 1

377(YZ) 6

2.

O ®W 9 $ § U1 A § I8 AN
feafao | 1

Mention the name of family in which
Pepo fruit is found. 1
forg gl &1 WA Bell & 9 B fEEr S
€ ? 1
Which hormone is used in ripening of
fruit ? ' _ 1
fagd =ht e 7 IR FIA e ] &
am feifaa 1
Write the name of a bacterium causing

Citrus canker disease. 1
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5. fl <t 9g wgwe NGl & AW §qEY | 1 8. TRFHE T & 7 TF AE TET F: a0
H'ﬂf?rTQ 1 1
| 2t 12
5. Name any two air polluting gases. 1
= = . * ? s ¥
6. fpuad a1 1 Tefia HE a6t IqH0 & AT 8. What are lichens Describe their
economic importance. % + 1%
feafae | 1
9, FrafeiEd gt # = HIT 1+1

6. Mention the name of the apparatus to

&) arsIregs a9 fegard
demonstrate fermentation. 1

@) o wd g |
7. WERSiEd % AMithd fa3 #1 aui Sifag |
9. Differentiate between the following

1+1
pairs : 1+1

7. Describe the labelled structure of
a) Transpiration and Guttation

mitochondria. 1+1
b) Diffusion and Osmosis.

832709
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frrAfeifaa X dfera feoof f@maw - 1+ 1
%) 2fed i
@) dH A |

Write short notes on the following :

1+1
a) Green revolution
b) Hybrid vigour.
AT F G H G0 B | 2
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11.

IO T SEEE fawee d #% 9w s

FAT3T | | 2

Describe the structure of DNA. 2
OR

Write any four differences between

mitosis and meiosis. 2

12. FAEREeE T fEwEeg 4 ¥ AR 3N

12.

feifEm |

ST
B [
b
B [t

Write any four differences between

Bryophytes and Pteridophytes.
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13. T GENwl @ F A wE F =W

amifera fag s=mu | 2
argar
C; wd ¢, Ui 3= i | 2

13. Draw a well labelled neat diagram of a

dicot stem. 2

OR

Differentiate between C ,; and C, plants.

2

14, HIEH yoa W) G feoon fafag | 2

14. Write a short note on keystone species. 2
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5. s e F fra fafy & Gy § e
forem aramsE we fowR § 9EssT | 5
areran

S Fe & faves Rl w U

RT | 3W T & A STFen B AT HA

fqafeg =wo1 2 Faw Ofuferaddt 3ude &
QT 1 s A | 15+ 1341+ 1
15. What is the modern concept of
mechanism of photosynthesis ? Discuss
it in detail. S

OR
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Describe the distinguishing features of
family Leguminosae. How will you
distinguish its three sub-families from
each other ? Give floral formulae and
floral diagrams of family Papilionatae.

1 1
.12+12+1+1

g WGNUT T B & 7 91 WSO & RN
A AHY Wed W OgEs UWE &t fadeH
FNTY | oy ygEU F A O I9E & o

ferara &g | ] +2+2
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16.

frafefaa o @ fedl @ W femof fefag

1, .1
2*t%

F) Y sAOMT

@) TEE

M) SRy |

What is air pollution ? Discuss the
reasons of air pollution and its inpact on
human health. Also discuss its control

measures. 1+2+2

OR

832709
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Write short notes on any two of the

1 1
following : 25+ 25

a) Microsporogenesis
b) Vernalisation

c) Polyembryony.
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